20244EE A S C A R IEH KA /KKt K&
24 FHHHIEA T — 1 (50m)
WA :2024412H7H (+) ~12H8H (H)

No. 11 %+ 50m BHF

B A LL—R iRk

1/2

L 13 >
B K £ & PE KR icE
1 W5 H EZAH] Ty N IVIEEDS ] 8/ 8 28.08 10#% ( 0.60)
2 g s HHS C 1 8/ 7 28. 21 9%% ( 0.69)
3 HAADD V s ET N 12 6/ 3 28. 74 9%% ( 0.76)
4 YEHE BLL WS AN 1] 6/ 2 29. 30 8t ( 0.63)
5 KAl e AVIRE 1 7/ 8 29. 56 Stk (0.66)
6 BN 1t K L#&EHJ H1 4/ 4 29.70 8tk (0.73)
7 /NPE T & 2 SEEES S H12 4/ 1 30.70 7% ( 0.80)
8 ‘FEFNfER B — h5FL 1 4/ 5 30. 80 7#%  ( 0.67)
9 Tk Z9P 7 4LV KH ==h] 5/ 4 30. 81 7#% ( 0.65)
10 BEA  HIiN KLEEHHF ab! 6/ 8 31.06 7#%  ( 0.80)
11 B +x» B I GH#fF Ml 4/ 7 31.49 % ( 0.76)
12 FApTAfE A T A NMEIT ==h] 3/ 3 31.68 65% ( 0.72)
13 % HEdn Y A4SS ep) 3/ 4 31.93 65% ( 0.80)
14 e EiR FGIRS S 1 3/ 6 31.95 65% ( 0.83)
15 W &3 E— h5FI 1 1/ 3 32.67 5%k ( 0.76)
16 Kl 23 7I AR H H il 3/ 8 33.06 5#% ( 0.73)
17 1k SeE WAV 12 2/ 6 33. 49 5#% ( 0.83)
18 & AV V R ET N H12 2/ 2 33.73 5%k (0.74)
19 [higs &R S VYN =3 1 2/ 5 33.94 4% ( 0.78)
20 IERE O R T MY S 4 “#b% 12 1/ 4 35.19 3tk (0.78)
21 JH A 4 1E X8RS SHEA 1 1/ 6 35. 32 3% ( 0.84)
22 P BHE VT —5 M1 1/ 7 36. 82 28%  ( 0.92)
23 0 #EE MY S 4 5% 1 1/ 1 51.75 ( 0.97)
PSS S AV H2 4/ 8 ki&4. 4 (—— )
No.11 %+ 50m BEBHE A LL—RRE
L 14 >
B K £ & PE KR iclE
1 A RH oI EW 13 8/ 3 28.15 9%k (0.71)
2 Wil AJE 7S SHJl 13 7/ 1 28. 39 9%% ( 0.65)
3 = b Ay A NI H2 7/ 4 28.98 8#% (0.73)
4 Fld SR VT8 H2 6/ 4 29. 08 8% (0.72)
5 b D 77 A1 12 5/ 3 29. 67 Sk (0.62)
6 [F i 7S S 19 6/ 5 30. 01 % (0.79)
7 TR H ZE WAy A NI H2 5/ 1 30.70 7#%  ( 0.66)
8 JEX i3 BIGT=3 H12 4/ 6 30.78 7% ( 0.82)
9 /NI Fizk GRS S 2 4/ 3 30.93 65% ( 0.80)
10 FuH  fB4E J SSKkEBE 19 3/ 5 31.17 65% ( 0.63)
11 K ZEH] AV H2 6/ 1 31.33 65% ( 0.67)
12 fAiHWAlT MY S 4 bt 2 5/ 8 31.37 6% ( 0.67)
13 #HbE GRS S 12 3/ 2 31.64 6% ( 0.83)
14 K7 £ AV DL 12 3/ 7 31.66 65% ( 0.77)
15 KAF M =NV AN H2 2/ 8 33.98 3#%  (0.78)
16 1ERE 3R B — hSF 12 2/ 3 34.03 3#% ( 0.70)
17 Fn A4S S 12 2/ 1 34.33 3% (0.75)
18 faHh  #Fj+ MY S 4240 12 1/ 5 35.24 28%  (0.72)
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20245 A S C AR IEH XM IR kS 2/2
235 FHHTHIEAK 7 —/L (50m)
WA :2024412H7H (+) ~12H8H (H)
No.11 %+ 50m BEBHE B A LL—R R
L 15 >
B & 4 & PE KR icE
1 HE FnZE Ty MNIVEED = 8/ 2 26.78 10#% ( 0.59)
- Joc (CS) -+ JoC
2 fEyd  EmL V TN 13 7/ 2 28. 21 9%k ( 0.57)
3 FHATHLES KD v — kN 13 8/ 6 28. 47 8% ( 0.64)
4 RHEOOED 7S SHi H13 7/ 3 28.56 8tk (0.72)
5 & izl T/ b IViEEDS 3 5/ 2 29. 59 T#%  (0.63)
6 IR FH D R RS S 13 5/ 6 29. 94 #% ( 0.65)
T RAH fEEE 2 IR =g 5/ 1 30. 84 65% ( 0.77)
8 [Lkg OME SN 5 3 2/ 1 34.59 2#% ( 0.81)
9 TRk THY T/ IMEIN 3 1/ 2 35.96 % (0.77)
No. 11 % F 50m EHF B A LL—R R
L 16 >
B K 4 T & 2HE KB B
1 R =4 RS ——=— R = 8/ 4 28.00 9%% ( 0.63)
AN NI S PN =1 7/ 7 28.50 St (0.70)
3 EHE fEH K LVEEHH: 52 7/ 6 29. 11 S ( 0.69)
4 YR EfE ES NPYIN =3 6/ 7 30.16 % (0.67)
5 BE BIE S P N = 5/ 5 30.19 7#%  ( 0.66)
6 [INIEA K ] S S5Fh =3 4/ 2 30. 66 6% ( 0.64)
No. 11 &+ 50m BE* B A LL—RREG
L 17 >
B K& 4 T & PE K =G
OPN AR ONMRF B = 8/ 1 27.93 9tk . 69)
No. 11 % F 50m EHF B A LL—RRIEG
L 18 >
JBEhL K £ Fr & 2E KB =G
1 = WL V RET N =3 8/ 5 27.09 104% ( 0.59)
2 =g (NG V FET N =3 6/ 6 29. 36 7#%  ( 0.65)
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